RCPCH Staff Conference, 29th January 2016

Climate Change Quiz (with answers) – answer all 10 questions. 
1) How certain is the UN Intergovernmental Panel on Climate Change that humans are responsible for global warming?  

a) 75%, 

b)  85%, 
c) 95%
2) Which country is the world’s biggest consumer and producer of energy? 

a) European Union,

 b) India,  
c) China. 
China has quickly risen to the top ranks in global energy demand over the past few years. China became the largest global energy consumer in 2011 and is the world's second-largest oil consumer behind the United States. The country was a net oil exporter until the early 1990s and became the world's second-largest net importer of crude oil and petroleum products in 2009.

Natural gas use in China has also increased rapidly over the past decade, and China has sought to raise natural gas imports via pipeline and as liquefied natural gas (LNG). China is the world's top coal producer, consumer, and importer and accounts for almost half of global coal consumption, an important factor in world energy-related carbon dioxide emissions. China's rising coal production is the key driver behind the country becoming the world's largest energy producer in 2009. China's sizeable industrialization and swiftly modernizing economy helped the country became the world's largest power generator in 2011.
3) Since the start of the industrial revolution how many degrees has the world warmed? 

a) 0.1degrees, 
b) 1 degree, 
c) 10 degrees
According to an ongoing temperature analysis conducted by scientists at NASA’s Goddard Institute for Space Studies (GISS), the average global temperature on Earth has increased by about 0.8° Celsius (1.4° Fahrenheit) since 1880. Two-thirds of the warming has occurred since 1975, at a rate of roughly 0.15-0.20°C per decade.

A one-degree global change is significant because it takes a vast amount of heat to warm all the oceans, atmosphere, and land by that much. In the past, a one- to two-degree drop was all it took to plunge the Earth into the Little Ice Age. A five-degree drop was enough to bury a large part of North America under a towering mass of ice 20,000 years ago.
4) Who recently described the planet as ‘an immense pile of filth’? 

a) David Cameron, 
b) The Pope, 
c) Barack Obama
In an extract from Pope Francis’s encyclical on the environment (2015) 
The pope's encyclical on climate change – as it happened
On Thursday the Vatican published Pope Francis’s long-awaited encyclical on the environment, which warns of ‘serious consequences’ if the world does not act on climate change 
The Earth, our home, is beginning to look more and more like an immense pile of filth. In many parts of the planet, the elderly lament that once beautiful landscapes are now covered with rubbish. Industrial waste and chemical products utilised in cities and agricultural areas can lead to bioaccumulation in the organisms of the local population, even when levels of toxins in those places are low. Frequently no measures are taken until after people’s health has been irreversibly affected.
5) What is permafrost? 

a) The last ice in the Arctic, 
b) High carbon soil frozen for more than 2 years, 
c) A very heavy frost at the top of a mountain for the winter. 
Permafrost comprises 24% of the land in the Northern Hemisphere, and stores massive amounts of carbon. As a result of climate change, permafrost is at risk of melting, releasing the stored carbon in the form of carbon dioxide and methane, which are powerful heat-trapping gases. In addition, permafrost is structurally important, and its melting has been known to cause erosion, disappearance of lakes, landslides, and ground subsidence. It will also cause changes in plant species composition at high latitudes.
6) Roughly how many people die each year in London because of air pollution? 

a) 4.5K, 
b) 9.5k,
 c) 12,5k 
In the Guardian (2015): Nearly 9,500 people die early each year in London due to long-term exposure to air pollution, more than twice as many as previously thought, according to new research.

The premature deaths are due to two key pollutants, fine particulates known as PM2.5s and the toxic gas nitrogen dioxide (NO2), according to a study carried out by researchers at King’s College London.

The study – which was commissioned by the Greater London Authority and Transport for London – is believed to be the first by any city in the world to attempt to quantify how many people are being harmed by NO2. The gas is largely created by diesel cars, lorries and buses, and affects lung capacity and growth.
7) The NHS Carbon Footprint (2013) in England was?  

a) 20 million tonnes, 
b) 25 million tonnes, 
c) 30 million tonnes 

……………………………..carbon dioxide equivalents.  
Above data (2013) from the NHS sustainable health unit. 

Data 2009: Liverpool emits 2.8 million tonnes of CO2 every year as a result of the energy we consume.   Industry is responsible for 45% of these emissions, while all forms of transport (but mainly cars) take up a further 18%. Households (mainly heating and power for homes) are responsible for the final 37%.  It is estimated that Liverpool City Council emits about 1% of all emissions in the city, around 28,370 tonnes per year. 
8) How many children die each year due to hunger? 
a) 3.1 million, 
b) 4.2 million, 

c) 5.1 million
Data from World Food Programme. Poor nutrition causes nearly half (45%) of deaths in children under five. Hunger and World Poverty. About 21,000 people die every day of hunger or hunger-related causes, according to the United Nations. This is one person every four seconds, as you can see on this display. Sadly, it is children who die most often.
9) How many species are at risk of extinction by 2050? 

a) 10%, 
b) 20% 
c) 30% 
A variety of scientific articles state that we will lose a huge amount of wildlife – it’s happening now. Loss is happening or will happen from all forms of life. Lists of IUCN Red List Critically Endangered species. Scintists monitor species and record the level of rsik on the Red list. 
10) How much do scientists estimate that agriculture is responsible for climate change?  

a) 10%, 

b) 20%, 
c) 30%
Solar radiation, temperature, and precipitation are the main drivers of crop growth; therefore agriculture has always been highly dependent on climate patterns and variations. Since the industrial revolution, humans have been changing the global climate by emitting high amounts of greenhouse gases into the atmosphere, resulting in higher global temperatures, affecting hydrological regimes and increasing climatic variability.

However, agriculture is itself responsible for an estimated one third of climate change. It is generally agreed that about 25% of carbon dioxide emissions, are produced by agricultural sources, mainly deforestation, the use of fossil fuel-based fertilizers, and the burning of biomass. Most of the methane in the atmosphere comes from domestic ruminants, forest fires, wetland rice cultivation and waste products, while conventional tillage and fertilizer use account for 70% of the nitrous oxides. According to the Intergovernmental Panel on Climate Change, the three main causes of the increase in greenhouse gases observed over the past 250 years have been fossil fuels, land use, and agriculture.
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